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A EHA
Ha: ¥HSYAH(2AL)
Sel: o2y (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ClASAY|(HEUEES2HMYH 29 XH) 22,980 22,202 778
J| 11,490
Al 11,490
101 Q124 H| 22,980 22,202 778
Jl 11,490
Al 11,490
03 RIHEZZXHE = 22,980 22,202 778
OleEEs MAE=E 22X B4(1H) 22,980
J| 11,490
Al 11,490
ClARAY|(ESHLSEAIY) 90,000 91,500 A 1,500
J| 45,000
& 9,000
Al 36,000
101 2121 H] 90,000 91,500 A 1,500
J| 45,000
& 9,000
Al 36,000
03 RIAHLZ2ZZ2XE S 90,000 91,500 A 1,500
OESHUZSEAY DI HUAZ2Z2 X 24=(401) 90,000
J| 45,000
= 9,000
Al 36,000
QA SAY|(HULLEXAALY) 19,474 19,474 0]
Jl 5,512
o 1,102
Al 12,860
101 e1214| 19,474 19,474 0]
Dl 5,512
o= 1,102
Al 12,860
03 RIAHEZZXHE = 19,474 19,474 0
ORI HAUZZ2 N E L (HASEXRAAIY) 19,474
J| 5,512
& 1,102
Al 12,860
ClEAS2AY|(HABAHXA S22 AH) 26,775 23,152 3,623
101 Q121 H] 26,775 23,152 3,623
3 2INHAZ2Z2XE 5 26,775 23,152 3,623
OZ2cxzaad 22X B4 26,775
ocllza 1,182,560 * 1¥ * 123] 14,191
SR = 1,182,560 * 1 x 400% 4,731
o & A£G 160,000& * 1¥ = 123 1,920
cHIKIFIILE
09,4923 * 8AIZ2F x 1&H » 12& 912
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SN HH-S(BN) - MBAY - B il HlnE2
o A2 =4I 110,000& = 1H = 123 1,320
o Z A G A 120,000& = 1H » 123 1,440
ocExgRSd 40,000 * 1Y = 123 480
o E+g 40,000 * 19 = 123 480
o H A F O 1,182,560& » 1H * 110% 1,301
IA2HYH(NSAIEZA SAXE) 27,000 21,500 5,500
| 13,500
< 2,700
Al 10,800
101 @124 dl 27,000 21,500 5,500
| 13,500
< 2,700
Al 10,800
03 RIAHAZZ2TE = 27,000 21,500 5,500
Ozd2elY RIAHL 22X = 27,000
J| 13,500
= 2,700
Al 10,800
|23l 51,322 50,494 828
JlE2&l 51,322 50,494 828
201 Let2d] 42,226 41,638 588
01 At 22l 42,226 41,638 588
ORA2Y JI23Hl 250,000& = 123 3,000
OMREES PL(SAX &) 200,000& * 12& 2,400
O#EANRII ABF F7¢
300,000& = 9UH * 23| 5,400
Ost&abd gxxz 30,000& = 5CH » 12& 1,800
Ogax=¢ 50,000& * 298 » 124« 12,400
Oll=l 50,000& = 279H 1,350
O= &l 7,000 * 279 = 7L « 12& 15,876
202 O4dl 3,816 3,576 240
01 =LHAYI 2,160 1,920 240
OHI&Z2 20 2,160
02 X 1,656 1,656 0
OANZEHEZ A BAHAIZ R HAYI
138,000& » 198 = 128 1,656
203 YR =2t 5,280 5,280 0
02 It =& 1,080 1,080 0
OIS R =& 40,000& = 279H 1,080
04 EAN2I LRI 4,200 4,200 0
NI IRFEYI 350,000& = 12& 4,200




